PSE 476
Homework #20
Never Due 

1. Why is xylanase used during bleaching?
a) It removes xylans from the surface of fibers (by cleaving them) so there is better penetration of bleaching chemicals.

b) It cleaves carbohydrates attached to lignin which improves the removal of lignin.

c) Their use allows for less bleaching chemicals to be used in subsequent steps.

d) All of the above.

2. Why has xylanase not been more used in the past?

a) High cost

b) Low stability of the enzyme

c) Not very available

d) All of the above

3. An acid wash stage can be used for which of the following 2 reasons?

a) Removal of metals and solubilization of lignin.

b) Cleavage of hexenuronic acids and solubilization of lignin

c) Conversion of carbohydrate reducing ends to acids (stopping) and removal of metals.

d) Removal of metals and cleavage of hexenuronic acids.

4. Are peracids used for delignifying or brightening?

a) Delignifying

b) Brightening

c) Both

5. Peracetic acid is manufacture through the reaction of acetic acid with what?

a) Hydrogen peroxide

b) Sulfuric acid

c) Oxygen

d) Ozone

6. Is the following sequence a TCF or ECF sequence? (OEOPHEP)?
a) ECF

b) TCF

7. How many mills in the USA use TCF bleaching at least partially? (This is according to Dr. Lignin’s sources)

a) 0

b) 1

c) 5

d) 50

8. What is a major reason that bleaching chemicals will accelerate glycosidic cleavage?

a) Direct cleavage of the glycosidic cleavage by the bleaching agent

b) Conversion of hydroxyl groups to radicals which accelerates gylcosidic cleavage.

c) Oxidation of hydroxyl groups to carbonyls which accelerates gylcosidic cleavage.
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